
ROSE SQUARE 

 

Skill level: Intermediate 

Colors: Yarn A: Peony Pink / Yarn B: Jade / Yarn C: Peach 

Special stitches: 3-t-bc (3 treble crochet bobble stitch) / BPsc (Back post single crochet) 

 

INSTRUCTIONS 

Rnd 1: (start with Yarn A) Start a magic ring with 6 sc, sl st in the initial sc [6]. 

Rnd 2: Ch 1, sc in next sc, (ch 3, sk 1 st, sc in next st) repeat 2 times, ch 3, sl st in initial sc [12]. 

Rnd 3: Sl st in next ch-space, ch 1, (sc + hdc + 3 dc + hdc + sc in same ch-space, (sc + hdc + 3 dc 

+ hdc + sc in next ch-space) repeat 2 times, sl st in initial sc [21]. 

Rnd 4: (work behind the petals of Rnd 3) Ch 1, (BPsc around hdc of Rnd 3, ch 3) repeat 6 times, 

sl st in initial BPsc [18 ch]. 

Rnd 5: Sl st in next ch-space, sc + hdc + 3 dc + hdc + sc in the same ch-space, (sc + hdc + 3 dc + 

hdc + sc in next ch-space) repeat 5 times, sl st in initial sc [42]. 

Rnd 6: (work behind the petals of Rnd 5) Ch 1, (BPsc around the middle dc of Rnd 5, ch 5) 

repeat 6 times, sl st in initial BPsc [6 + 30 ch]. 

Rnd 7: Sl st in next ch-space, sc + hdc + 5 dc + hdc + sc in the same ch-space, (sc + hdc + 5 dc + 

hdc + sc in next ch-space) repeat 5 times, fasten off with an invisible join to first sc [54]. 

Rnd 8: *(join yarn B in the middle dc of a petal, make your first stitch in the middle of the dc of 

a petal, ch 1, 3-t-bobble in the same space, ch 2, sc between last dc and next petal, ch 3, 3-t-

bobble in the same space, ch 2, between next dc and next petal, ch 3, 3-t-bobble in the same 

space, ch 2, between last dc and the start of the same petal, ch 3, 3-t-bobble in the same 

space, ch 9 repeat 4 times, fasten off with an invisible join after initial sl [16 ch + 4] [total: 24 

ch]. 

Rnd 9: (join Yarn C in a ch-space between 3-t-bobble after a ch-2 space, make your first stitch in 

the starting stitch) Dc 2-together in the same space, finish dc in next ch 2-spaces, ch 2, ch 3 in 

each of the next 2 ch-spaces, 3-hdc in each of the next 2 ch-spaces, ch 3, 2 hdc in next ch-

space, 3 dc + 3 hdc + 3 dc in next ch-space, 5 hdc in next space. 

 

 



 


